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Please carefully read the instruction-given in answer sheet
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The figures in the margin indicate full marks

Single Answer type question (1 to 25)

Mark in the answer sheet to the right answer of all the following questions :

1.

ik

Earth Day is celebrated on —

(a) 5" June (b) 22" April (c)
The gas responsible for Bhopal Gas disaster is —

fa) DDT (b) MIC (c)
Chipko movement took place in —

(a) Kumaon region (k) Himachal region

(c¢) Tehri-Garhwal region.

The average temperature of earth is approximately —
(a) 10°C (b) 15°C (c)
The encrgy flow in ecosystem is —

(a) One-way (b) Two-way (c)
The Unit of ionizing radiation is —

(a) ROM (b) RAD (c)
The *Arabari Model’ of West Bengal is famous for —
(a) Joint forest management

(b) Rain water harvesting

(c) Solar Power Plant.

The Permissible limit of Arsenic in drinking water is —
(a) 0.05 mg/L (b) 0.005 mg/L. (c)
BOD is used to test —

(a) Soil (b) Water (c)
Pollen grain cause —

(a) Tuberculosis (b} Allergy (c)
Genetic diversity is called as —

(a) o -diversity (b) P -diversity (c)
Locust i1s —

(h) a hird (c)

fa) an insect

1x25

22 May.
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20°C.
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a fish.



14.

LS.

17

18.

20.

21,

22

23

24,

Bharat-Stage — 11 is related 10— |
(a) Solid waste management ,
(b) Automobile emission |
(¢) Noise Pollution.

In India, number of Biodiversity hotspots are —

(a) 2 (b) 3 (c) 4

The Source of flyash is —

(a) Forest fire (b) Thermal Power Plant  (¢)  Wetland.

Silent Valley is located in —

(a) Meghalaya (b) Uttar Pradesh (¢) Kerala.

Disease caused by Protozoa is —

(a) Bacillary dysentry (h) Amoebiosis (c) Polio.

Which one is not renewable energy source?

(a) Wind encrgy (b) Solar energy (¢)  Fossil fuel.

The Ramsar site in West Bengal is —

(a) Sunderbans (b) Rabindra Sarovar

(¢) East Kolkata Wetlands.

Lotic water means —

(a) Lake water (b) Running water in rivers

(¢) Ocean water.

Minamata disease is caused by —

(a) Cadmium (b) Mercury (c) Lead.

Lion conservation is done in which National Park?

(a) Corbet (b) Gir (c) Kaziranga.
Green Peace is —

(a) Government Policy (b) NGO

(c) Administrative treaty.

Agenda 21 was an outcome from one of the following cities where

environment conference was held —

(a) Rio de Janeiro (b) Stockholm (c)  Vienna.

25. The percentage of nitrogen present in atmosphere is —

(a) 72.08% (h) 75.08% (c) 78.08%.

[Turn Over|
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Multiple Answer type questions (Q. No. 26-30)

Read the following Passage Carefully and darken the circle/circles

Corresponding to the Correct Statement/Statements of the respective Passage :

Passage - 1

26. The main characteristic feature of energy flow is that it is reduced in every
step. According to Raymond Lindemann, the transfer of food energy from one trophic
level to another trophic level remains 10% on an average. Plants can use only 1% of
the solar energy. The Primary consumers (herbivores) can use 10% of the energy from

plants. Secondary consumer can use 10% of the energy from Primary Consumers.

Statement1 : Primary consumer on an average can use 10% of energy from

secondary consumer.

Statement2 : According to Lindemann Law the transfer of food energy from
a trophic level to another trophic level is about one tenth on

an average.

Statement3 :  Plant cannot use 99% of solar energy.
Passage — 2

27. P.R. Ehrlich and A. Ehrlich in their book ‘The Population Explosion’
summarized the determinants of environmental degradation algebraically in the
following manner : the aggregate environmental impact (1) of humans is the product

of number of People (P), their level of affluence (A), type of technology and waste

disposal (T). Therefore I=Px Ax T.
The basic formula is readily applicable to rich countries.

Statement1 : When Population (P) becomes 0, then the environmental impact

(I) also becomes “0'.

Statement2 : When Population (P) and level of affluence (A) are multiplied
and then divided by the value of technology and waste
disposal (T), then the value of environmental impact (I) can

be determined.

Statement3 : 1=Px AxT is applicable to the third world countries.

10x 5



Passage — 3

28.  The Western disturbances are typical weather phenomenon observed in north
and north western India in winter and late winter months. These disturbances develop
over the Atlantic Ocean and Mediterrancan Sea, close to Spain and move further cast
through Asia minor. These depressions are weaker over the land surface, but after
entering north and north-western India turn active. These depressions contribute winter
rainfall in Jammu and Kashmir, Punjab and Haryana.

Statement1 : Western disturbance depressions become active from north to
north-east India.

Statement2 : Western disturbances are more active over Adtlantic ocean and
Mediterranean Sea than on the land,

Statement3 : In north and north-western India, Western disturbances is not
a typical phenophenon during the summer months.

Passage — 4

29.  Solar Ponds are artificial ponds to trap solar heat energy. In these ponds salts
are mixed in water. Normally salts like sodium, Calcium and Magnesium chloride,
Ammonium Sulphates and Ammonium nitrates are used. In these type of ponds,
temperature is highest at the lowermost bottom layers. The heated water is used to
keep household warm and to produce electricity. Around 90 kw electricity can be
produced from these solar ponds.

Statement1 : Around .09 MW electricity can be produced from solar pond.

Statement2 : The temperaturc of the upper and lower layer of solar-pond
always remains the same.

Statement3 :  Solar ponds are not natural ponds.
Passage - 5

30.  The most interior of the earth is known as the core. The core is formed by
metallic mincrals, mostly by iron, nickel and cobalt mixed with sulphur and silica.
This is so called NIFE layer rich in nickel and Iron. The core extends for about 3500
km out of which 1250 km is included in the innercore and 2250 km in the outer core,
The temperature at the core is extremely high ranging between 5000° to 5500°C.

Non-metals do not dominate the composition of the earth
known as core.

Statement 1

Statement2 : The temperature at the core ranges between 5000-5500°
Fahrenheit.

NIFE layer contains less amount of cobalt than nickel and
iron.

Statement 3
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